
Hardware



Service Parts
Screw

00000, 619021, 619030, 619033, 619040, 619055, 619091, 619101, 619135,
00000, 619035, 619043, 619056, 00000, 619052, 619053, 619084, 619088,
619089, 00000, 619059, 619078, 619100, 619105, 619109, 619111, 619113,
619121, 619122, 619125, 619128, 619130, 619138, 619139-01, 619139-02,

619139-03, 00000, 619005, 619010, 619123, 00000, 619020, 619066, 619124,
619136, 00000, 619031, 619064, 619070, 619071, 619077, 619078, 619079,
619108, 619131, 619137, 619141, 619142, zzzzz, 00000, 619143, 619144,

619146, 619147, 00000, 619002, 619011, 619012, 619015, 619026, 619027,
619028, 619036, 619038, 619039, 619047, 619058, 619067, 619069, 619080,
619081, 619083, 619086, 619097, 619102, 619117, 619126, 619127, 619132,

619133, 619140, 619145 

Trans/Air Mfg. 480 E. Locust St. Dallastown, PA. 17313 (717) 246-2627 
www.busacparts.com     www.transairmfg.com 

https://www.transairmfg.com/www.busacparts.com
https://www.transairmfg.com/www.transairmfg.com


 Sheet Metal Screw Pan Head
619021 - Screw, Pan Hd, Philips, #10 x 1/2
619030 - Screw, Pan Hd, Philips, #8 x 5/8
619033 - Screw, Pan Hd, Philips, #8 x 3/4
619040 - Screw, Pan Hd, Philips, #4 x 1/2, Blk 
619055 - Screw, Pan Hd, Philips, #8 x 1.00
619091 - Screw, Pan Hd, Philips, #8 x 1/4, SS
619101 - Screw, Pan Hd, Philips, #8 x 3/4, Blk
619135 - Screw, Pan Hd, Philips, #10 x 1.00

  Machine Screw Round Head
619035 - Screw, Round Hd, Philips, #6 x 3/8
619043 - Screw, Round Hd, Philips, #8-32 x 1
619056 - Screw, Round Hd, Philips, #10-32 x 2

  Screw Truss Head
619052 - Screw, Truss Hd, #10-32 x 1/2
619053 - Screw, Truss Hd, #10-32 x 5/8
619084 - Screw, Truss Hd, #10-24 x 5/8
619088 - Screw, Truss Hd, #8-32 x 1/2
619089 - Screw, Truss Hd, #8-32 x 3/8

  Sheet Metal Screw Pan Head Self Drilling
619059 - Screw, Pan Hd, #8 x 1/2, Philips, Self Drilling
619078 - Screw, Pan Hd, #8 x 1/2, Philips, Self Drilling

619100 - Screw, Pan Hd, #8 x 1/2, Philips, Self Drilling
Blk

619105 - Screw, Pan Hd, #10 x 1 1/4, Philips, Self
Drilling

619109 - Screw, Pan Hd, #10 x 3/4, Philips, Self Drilling
619111 - Screw, Pan Hd, #10 x 5/8, Philips, Self Drilling

Trans/Air Mfg. 480 E. Locust St. Dallastown, PA. 17313 (717) 246-2627 
www.busacparts.com     www.transairmfg.com 

https://www.transairmfg.com/www.busacparts.com
https://www.transairmfg.com/www.transairmfg.com


619113 - Screw, Pan Hd, #6 x 1/2, Philips, Self Drilling,
Blk Zinc

619121 - Screw, Pan Hd, #8 x 1/2, Philips, Self Drilling,
SS

619122 - Screw, Pan Hd, #8 x 1/2, Philips, Self Drilling,
Blk Oxide

619125 - Screw, Pan Hd, #6 x 5/8, Philips, Self Drilling

619128 - Screw, Pan Hd, #12 x 3/4,Philips, Self Drilling,
Blk

619130 - Screw, Pan Hd, #10 x 1.00, Philips, Self Drilling

619138 - Screw, Pan Hd, #10 x 3/4, Philips, Self Drilling,
Blk

619139-01 - Screw, Pan Hd, #10 x 3/4, Philips, Self Drilling,
Spring White

619139-02 - Screw, Pan Hd, #10 x 3/4, Philips, Self Drilling,
Gray

619139-03 - Screw, Pan Hd, #10 x 3/4, Philips, Self Drilling,
White

  Sheet Metal Screw Truss Head
619005 - Screw, Truss Hd, Philips, #10 x 3/4
619010 - Screw, Truss Hd, Philips, #10 x 1/2, Self Tapping
619123 - Screw, Truss Hd, Philips, #10 x 3/8

  Sheet Metal Screw Hex Washer Head
619020 - Screw, Hex Washer Hd, Non-Slotted, #14 x 3/4 

619066 - Screw, Hex Washer Hd, Slotted, #14 x 3/4, Drill
Point

619124 - Screw, Hex Washer Hd, Non-Slotted, #10 x 1/2,
Drill Point

619136 - Screw, Hex Washer Hd, Slotted, #10 x 1/2,
Slotted, SS

  Machine Screw Hex Head
619031 - Screw, Hex Hd, Cap, 5/16-18 x 1, Gr 8
619064 - Screw, Hex Hd, 1/4-20 x 3/4

619070 - Screw, Hex Hd, #10-24 x 1.00, Slotted Thread
Cutting

Trans/Air Mfg. 480 E. Locust St. Dallastown, PA. 17313 (717) 246-2627 
www.busacparts.com     www.transairmfg.com 

https://www.transairmfg.com/www.busacparts.com
https://www.transairmfg.com/www.transairmfg.com


619071 - Screw, Hex Hd, #10-24 x 1/2, Slotted, Thread
Cutting

619077 - Screw, Hex Hd, #10-32 x 7/8, SS
619078 - Screw, Hex Hd, #10-32 x 1.00, SS
619079 - Screw, Hex Hd, #10-32 x 1/2, SS
619108 - Screw, Hex Hd, #10-32 x 5/8, SS
619131 - Screw, Hex Hd, 10-32 x 5/8, w/Washer

619137 - Screw, Hex Hd, #8-32 x 1/2, Slotted, w/ Washer
SS

619141 - Screw, Hex Hd, M4 x .7 x 6MM, Stainless Steel
619142 - Screw, Hex Hd, M4 x .7 x 8MM, SS

Note: 619070 & 619071 Slotted not shown in picture

  Machine Screw Torx Head

619143 - Screw, Button Hd Torx, M4 X 8MM, w/
Self-Locking Patch, SS

619144 - Screw, Button Hd Torx, M4 x 6MM, SS
w/Self-Locking Patch

619146 - Screw, Button Hd Torx, M4 X 8MM, w/
Self-Locking Patch

619147 - Screw, Button Hd Torx, M4 X 6MM, w/
Self-Locking Patch

 

Trans/Air Mfg. 480 E. Locust St. Dallastown, PA. 17313 (717) 246-2627 
www.busacparts.com     www.transairmfg.com 

https://www.transairmfg.com/www.busacparts.com
https://www.transairmfg.com/www.transairmfg.com


 Machine Screw Pan Head
619002 - Screw, Pan Hd, #10-32 x 3/4
619011 - Screw, Pan Hd, #8-32 x 1/4
619012 - Screw, Pan Hd, #8-32 x 5/8 
619015 - Screw, Pan Hd, #8-32 x 3/4
619026 - Screw, Pan Hd, #10-32 x 5/8
619027 - Screw, Pan Hd, #10-32 x 1/2
619028 - Screw, Pan Hd, #8-32 x 5/8, SS
619036 - Screw, Pan Hd, #10-32 x 1.00
619038 - Screw, Pan Hd, #8-32 x 3/8
619039 - Screw, Pan Hd, #10-32 x 1 1/4
619047 - Screw, Pan Hd, #8-32 x 1/2
619058 - Screw, Pan Hd, 1/4-20 x 1 1/2
619067 - Screw, Pan Hd, #6-32 x 1/2
619069 - Screw, Pan Hd, #6-32 x 5/8
619080 - Screw, Pan Hd, #8-32 x 5/8, Self Tapping
619081 - Screw, Pan Hd, #10-32 x 3/8, SS
619083 - Screw, Pan Hd, #6-32 x 3/4
619086 - Screw, Pan Hd, #10-24 x 5/8
619097 - Screw, Pan Hd, #6-32 x 3/8
619102 - Screw, Pan Hd, #10-24 x 3/4
619117 - Screw, Pan Hd, #4-40 x 1/2
619126 - Screw, Pan Hd, #8-32 x 1/2, SS
619127 - Screw, Pan Hd, #10-24 x 1/2, SS
619132 - Screw, Pan Hd, #6-32 x 1.00
619133 - Screw, Pan Hd, #8-32 x 3/8, Blk
619140 - Screw, Pan Hd, #10-24 x 3/8, SS

619145 - Screw, Pan Hd, #4-40 X .25, w/ Ext. Tooth
Washer, SS

Trans/Air Mfg. 480 E. Locust St. Dallastown, PA. 17313 (717) 246-2627 
www.busacparts.com     www.transairmfg.com 

https://www.transairmfg.com/www.busacparts.com
https://www.transairmfg.com/www.transairmfg.com

